V= 2030 % 0.01 2023
> 2023 ° 2 03.

2023
0 .00

> 2023 ° 2 03.

( ) ( ) [ 09.
V= 20283 0.00 [/ 09 2023 ° 2 03.




(t=1po0

mim

2 .45
W=

X

2.

8000
M4

2 0 30.

2 0 30.

2

20323




(100m2

(18-8-25BB,
=10
(VP@50

(0.

V=100.0x000. 100
t=1200mm

N=100.00Q 2.5
mA= 2.548 0.10

10.

= W

19.

00

o w

85
31

8 77

10.

.00

. 33

.79

0 (




(t =490 nm

mA= 1440 0

1 4 40.

1 4 40.

1 4 40.

1 4 40.

2

2

140

140




-
1l

-
1l

8000

8000

800

800

800

800

8 00.

8 00.




10cm

15cm

A= 1440 O

>
L= 1.08 1.08 8000
No. O 1. 8 hMo. . 8Mo. No.
>
Vi 14140 & 0 .40
vaz 0.20 x 8000
230
90 , 130 |10
8
- ‘0.02‘
>
\E= 7 .63
>

4

oo
00 o
00300

1 4 40.

1 4 40.

eNoNe]

(92}

(92}

2

140

8 36.

74

74




.00

.00

10

10




A= 2030 2

2 0 30.

2 0 30.

2

203




	①
	1/2
	2/2

	②
	③
	1/5
	2/5
	3/5
	4/5
	5/5


